Two Point Arm Attaching Hardware

)
-
[

=
v
[+

(%]
3

<
I
s

w

MVB Style
Chairs after 7/4/00

Conventional

@ Space Saver

7/5100

MVP, Style
Chairs before

@ Conventional

@ Space Saver

Xtra, Jr.

Conventional

@ Space Saver




Two Point Arm Attaching Hardware

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1055298 Screw, Hex Head (1/4-28 x 1-5/8") 1 6
2 1036485 Socket, Arm 1 2
3 1065362 Locknut (1/4-28) 1 8
4 1055351-NLA | NLA - Screw, Hex Head (1/4-28 x 2-1/2") 1 2
5 1015856 Socket, Armrest 1 2
6 1068015-NLA | NLA - Support, Post, Arm 1 2
7 F 1114604-NLA | NLA - Bracket, Arm Mounting, Black 1 2
8 1026907 Washer (1/4 x 1/2 x 1/16") 1 4
9 1015426 Spacer, Coved Cam - Right 1 1
9 1015427 Spacer, Coved Cam - Left 1 2
10 1028553-NLA | NLA - Spacer (1/4 x 3/8 x 3/4") 1 2
11 1055309 Screw, Socket Button Head (1/4-28 x 1-1/4") 1 2
12 1025765 Locknut (1/4-28) 1 2
13 1036473-NLA | NLA - Bracket, Armrest, Inside Mounting, Black - 1 1
Right (14" Deep)
13 1036472-NLA | NLA - Bracket, Armrest, Inside Mounting, Black - 1 1
Left (14" D)
13 1036474 Bracket, Armrest, Outside Mounting, Black - Right 1 1
(14" D)
13 1036475-NLA | NLA - Bracket, Armrest, Outside Mounting, Black - 1 1
Left (14" Deep)
13 1036469-NLA | NLA - Bracket, Armrest, Inside Mounting, Black - 1 1
Right (15 - 18" Deep )
13 1036468-NLA | NLA - Bracket, Armrest, Inside Mounting, Black - 1 1
Left (15 - 18" Deep)
13 1036470-NLA | NLA - Bracket, Armrest, Outside Mounting, Black - 1 1
Right (15 - 18" Deep)
13 1036471-NLA | NLA - Bracket, Armrest, Outside Mounting, Black - 1 1
Left (15 - 18" Deep)
14 1066261 Bracket, Armrest, Black 1 1
15 1055347-NLA | NLA - Screw, Hex Head (1/4-28 x 1-1/2") 1 3
16 1036435 Washer, Nylon (1/4 x 7/8 x 1/32") 1 2
17 1087219 Spacer (1/4 x 3/8 x 1) 1 2
18 1026900 Washer (1/4 x 23/32 x 1/16") 1 4
19 1083099 Screw, Socket Button Head (1/4-28 x 1-1/2") 1 2
20 AE 1069807 Hardware, Arm Mounting, Conventional Arm (Pair) 2 1
21 AE 1036796 Hardware, Arm Mounting, Space Saver Arm (Pair) 2 1
22 B,E 1079517-NLA | NLA - Hardware, Arm Mounting, Conv. Arm (Pair) 2 1
22 CE 1079519-NLA | NLA - Hardware, Arm Mounting, Conv. Arm (Pair) 2 1
23 B,E 1079516-NLA | NLA - Hardware, Arm Mounting, S.S. Arm (Pair) 2 1
23 CE 1079518-NLA | NLA - Hardware, Arm Mounting, S.S. Arm (Pair) 2 1
24 D.E 1101043-NLA | NLA - Hardware, Arm Mounting, Conv. Arm (Pair) 2 1
25 D.E 1094944-NLA | NLA - Hardware, Arm Mounting, S.S. Arm (Pair) 2 1




Two Point Arm Attaching Hardware

NOTE:

A - Xtra, Jr.

B - MVP, Style Before 7/5/00 (14" Deep)
C-
D
E

MVP, Style Before 7/5/00 (15-18" Deep)

- MVP, Style After 7/4/00 (14-18" Deep)
- Includes Front Arm Sockets w/ Hardware (ltems 1-3)
F-

Part No Longer Available individually. See Part # 1069807 for replacement.




